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@—4612 +9b% = —(2a + 3b)(2a — 3b)

® x*-5x-6=(x-2)(x-3)

B

D (2x - 3y)(x—)
@ma+b-1)
® 4(4a + b)?

® (x+1)(x-6)




T oA a2 —4x+3 7 2x2 - 3x-9 9

O x-1 @ 2x-3
@ 2x+3 (@)x—S

¥ —dx+3=(x-3)(x-1)
2x2 —=3x-9=(2x+ 3)(x - 3)




729] BolZ g, A2 0] Po]
=7

@ x®+5x+6
@4x2+20x+25

~&B

bt

AT I 1 1 1
1 100100
' L 1 1

e

Al 1] ey e

\ \ \ 1 1

T, (a+ b)> o] k- LA}
@ (2a+b)?

@ (4a+b)?

wkeb 2 ALz o] ol

(a+b)*>=(x+3+x+2)°
= (2x + 5)?
=4x* +20x + 25

g Ho] x 1 A o AR Hol: &
Az, k=71 242F x, 191 A A 5719] |ol: sx
T Ro Zol7k 1] AAAE 67119 Hol: 6

x% 4+ 5x+6 = (x+2)(x + 3) o[t}
7}2 A01E x+ 3 =a, A2 Zo)E x+2 =b2t 519




7. a(2a-b) - (b-2a) & J5ES|5HA?

@® (a-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @)(a+1)(2a-0)
® a(2a-b)

a(2a—b) — (b—2a) = a(2a - b) + (2a - b)
=(2a-b)(a+1)




ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




9. FOTAH P -ax-15 22" -9x+b 2 FFA A7 x -3 L o,

atb 2] ke Fotofer,
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@ (x+y)(x+y-5) @ (x+y)(x+y-10)
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